
IFI-EFG-3B-ACCY01
Accessory Kit 

Shipping/Receiving

800-404-ATEC (2832) x802

Order Additional Equipment 

800-404-ATEC (2832) 

Part # Description Qty

IFI-DATA-01

IFI Test Data Sheet (S11 

Parameters) 1

IFI-MANUAL-01 Operating Manual 1

IFI-300802 Outer Pipe 1

IFI-EFG-3B-ANTENNA Billboard Antenna 1

IFI-100016 Wooden Stand 1

IFI-CASTERS

Bottom Wooden Stand w/casters 

(rollers/wheels) 1

Rev.01 2025/8/8

10401 Roselle Street   l   San Diego, CA 92121   l   www.atecorp.com

Page 1 of 2



IFI-EFG-3B-ACCY01
Accessory Kit 

Shipping/Receiving

800-404-ATEC (2832) x802

Order Additional Equipment 

800-404-ATEC (2832) 

Part # Description Qty

IFI-Z-1/4-20-SHHB-5-1/2

1/4-20 Stainless Hex Head Bolt 5-

1/2 2

IFI-Z-1/4-20-SHHS-3-1/4 1/4-20 Steel Hex Head Bolt 3-1/4 4

IFI-Z-1/4-20-SWN 1/4-20 Stainless Wing Nut 6

IFI-Z-1/4-20-SFW 1/4-20 Stainless Flat Washer 6

Rev.01 2025/8/8

10401 Roselle Street   l   San Diego, CA 92121   l   www.atecorp.com

Page 2 of 2


